—
2 HH R & EX (=2 W &F054108118 ) LEREREBAFESFTE BHEER: (ABHJIKA BEMFE 1000 NG
Q == A sk
: T T - - PRORR BRE RE SHISE10A12HCK)
x ; T | | % . i -
% # B | RA|&=E & F & U 5in aqL fi5| & | & & F % 5 |5& | & ' F % fi# % = & |
Elom o | = BB % = |E|EE GHES % o
ABOEE) | 5| 1|@) = & 5 = |E| 08 2216 40| L & @ = |5 THE 0 EH hvhva A
1 g [%%l2lo s B B X |2 i85 5|G| 8 # E A 2 i 0 =4 l \
wanalnslols — 8178 slelels ki = 5w s R RR
R |2&8 24 2.830 288 4~2 12,380 3% 15 61 200 -
& [3@EHE 12224 4,100 3EE 4~2~1 68, 060 o4k 287, 600 ﬁﬁ Rﬁiﬁhh%-l-ﬂﬂﬁ
B [J4F 24 830 14 1,350 12 440 &% 16, 255, 500 RX 1E
A ) 1 x w [E] 107 2229 4]0 & & & 710 W & 2 F Py 0 #=
9 i""ﬁ?ﬁg WG EREED Y T EEEEIE B : i I MNEEREHE EE: 333m AHLES: 361m T4 MmENE/NART
m kN , s
g EEERE R 2an s |4 CEBIEHTHAOKE, BESHO( MEERE )ET—IL TS,
R[2®8 227 850 2EE 2~7 2,340 3o 1308 608 /-\
£ |38 12227 3,520 3EHE 2~7~1 17, 900 74 K 398, 000
B [O4F 27 300 122 1,130 =7_640 &% 18, 150, 000
A B R (0] & B ® — |E| 100 2245 4]0 EAX & ® | |7|©| I & & X | |20& 0 [;" — : ———
3 i 1.4 2(@| ® B E B |%k| 18 B|5|@| #& B # — 2 1B 0 L—2x ¥ &= B = £ Flapam| B (20 —,IEIEHE = f RYF s|B ﬁulEIﬁJZ{ﬁs %4 (FA)
1,682 mig| m [3|@| ¥ #® +h 6l@| 8 B B 17 g;g | 6,600 20 ik EIE] il 3l 1]2]3]4]5]6|@Enxxk[w[Es]|T[K il 42 [B A A
$h 334 1,764,100 %l-l ol S e =t o=38F | 91]3.93 10457Tololal1] 2] 2 HQ@ 3 @  188.0
E ZE*E 327 680 2$$ 3~7 1, 340 3);% 17:258:800 E 1 1 @ 1 J% = EU .192 E] [ HET @;Z®57 ® 156.0
& | 3&#E 22327 1,110 3EHE 3~7~2 4, 250 74K 352, 200 % 20|z ?—.5 & 2 4p[41[E | 89393 100.2&% olol3l2l3l1 F1;$ gs 1%5 @ 1280
3874 F 327 300 223 350 =7 610 5 21, 330, 400 ap B S & LB ] L LR 4 N
4 Afé(;’a%@) ]41% AH#F E—% £[10.6 2.20.6[S 4% é?gﬁ 7|®@| # B ® B gﬁg 8 - | - 3@5‘%2@ 5 Z[A0% | 93)3.92 "517(0] 04| 1|3[O0|rii2 5 2 3 1 > EH
7 ’ 2 EZ_ Gl z 5 ,i’ - - [RIVEEL F1 =
- 1682 mi| m 3@ & # ok E | | i Ble|®|E & = 2 ¥ , 392,800 ~ % 4@ 3 i fh[42[@ 1| 96(3.92 100. 7610 0(4|1|2]|0|HE 2586
; 1169, ~ Spors 2% § 101, 41 FIXE163
e — L | INRCONL AT T A R e
& | 3F 12427 , & ~7~ , 794 K ) T - ! v + - =
B OAF 127 480 =4 600 =7 1230 &% 26,527, 800 ) 2 025 ©)# gj:&l i N Fr |44 R 841392 0l 0j0j0j0fT]0 CNER 6 7 6
A R (SEED 1| & & & A [#]102 2231 4@ &7 B & 1B 7@ & B K # 2748 0 Lveam & - 27/ #&F(11713.92 2elol1]0]1|3[17]|5 = 2
5| Emm |"Zlz2lal 0 ® R |5 iw 5|@| 7 % B & | B 2 i 0 # _ 6®’f Zﬁﬂﬂ-‘ /N 423 Eﬁﬁ;j;g
1,682 mik| m |3|D W K & X 25 slel@| £ 28 , 241700 'C w1056 "ielm 3 " pm g=seim E[01)s92 %17 31| 1|1|3]|6|R ET52,
ih 3E1 2,057, 900 : - '
R|28# 325 1,450 2HE 5~3 2,210 e 23 659 300 FFE1:00( (8EsT)
& [3## 12325 3,890 3#E 5~3~1 11,860 77 £ 651. 300 \ I 2
%8 [J4F 325 860 125600 123 840 &3 28,922, 700 - f||1@51s ; I fEP1Z | 96[3.92 105_222 ol1l13lal1lo H%ﬁ %é%é ® 180
s%&(f’a@) 16|1]/@] B B BAR %] 100 250 Bl4|Q| & & & E ACIEE = 2148 0 iE S'”/“/""E?... — T05-63 s 5552 @  156.0
6 . 2|6 = |5 18 5/ T £ & & 2 B 0 b % 2@%1 ;_E His |[EKEB45*FE | 83/3.92 399 0(0(9]1]1]0 FlX =55 1 ® 128.0
2015 | m |5 @ N H B ¥ 18 6|® B Il = m 281 590, 900 #E S & TR . : -
i 2R 1,886, 300 © w7 [3elR 3 TR m = sk 102.0To]5]s[of2[o]BF B252 " # T
R|2H# 325 340 2HH 3~5 630 3’§$ 24, 965, 600 —F=E S [4a 5 _tar . 95.90 FlE % 4 5 3
% 3@ 22325 930 3#H 3~5~2 3,390 ok 291200 gty 5 4@§ QT{?E;E A |saimsi) 87(3.92 C006 |00 1[2]1]0 F1f,“ %eks;;
3 [J4F 325 250 223 430 =5 380 &% 30, 335, 800 SPre . lasle m113]3. 93 104.04[10l 1 1o Tololi5[F & # x5
SBEE |, 1|0 ZE B B A [&]| 90 256 8|4]@ B B & 2| |70 & & & — | 208 0 RE ] O 2 ,,)E‘;é_-:- B RSE HIE 418 DA E 120
T oo Bl m AR B EAME I EF TS e 566,40 $_ p| FREE) | Gl#5 = HIl {BBE &) 97]392 Hoselolo 1o 1]0]HE F %%
m = & * =) z T ’ = - — z
N I S - — 258 1,985,400 B 2| 205m |50 S s s 85w 918104 |2]0|2|s|FE & Z2,
#h ; o7 o 5 = :
RI288 127 690 288 7~1 970 3EE 24,641, 400 [j: & : T — T E =
% [3@m 12327 680 3@E 7~1~3 3,540 94 £ 420’ 500 Y1121 6195 g;ﬁ %0 4 (40 A& 98/3.92 95128 210[1]0]3]8]|F % T‘% £7%%
B[U4F 127 310 327 140 =3 510 B 29, 584, 900 . . SEpr wam,  _ — 97. 84 Flk =327
SREE |, 1|0 & B _ & [E| 59 257 (40| B B & & [7]0] X ¥ & & | |2FE 0 ﬁ REN257Q% 538 "B {SABAPE 18107393 (150|121 0(0|1[3[3|Fiss 2322
8| = |Cl2la|#w B E £ |2 14 s|s|o =vE & ¥ 21 o| A — = e — —
2,05 miE| m |3|®| N K % | |18 Blel@ % % ¥ 2EE , 13310 J-_H_l— %||1®a S A B M8 115393 Ail5l4|1|ofe|8|HE B 1D om0
PR . boed PEREDS ~ 10;5 70 FIX 5200 '
E ziﬁ =3 Lo iz EE- 5 sy zg:é$$:§§§ = % S 4 2@z 3k - e g4 E| 94[3.92 “7]1010]6]5][1 il £3060 ® 1280
® | 3 12325 & ~3~ , 74 K , - = Sl 51 . 98. 88 F1 =646
3[04 F 123 530 125 290 3=5 240 a% 35_614. 400 ~ "l _sm 3B 3 0O K #5357 % 939 250(92]0[0]014|Fi} Fw2e AER
SBEE | 1| 1]|@ & # & # %] 103 2501 B]4|Q] = T =& t& 7o ®H B = 2148 0 o2 ESMVJ” 14 40 m| 89/3.93 98 712(0|0|2|4|2(0|FlE E205
odhmm » 23 EEE 252 [22lEimn e s | e st §’F¢ s o253 REE 0
e e I | O v RO G DT 5 [o[o ofo[1[0[15 g2 2
& (ol 1=4m5 , WE 4~5-~ , 74 F , 2,025 T i e
38 [JA4F 425 1,600 124 630 125 570 a3 36,016, 300 & - m @\ 5\ HE #Ez|8E N 19[3.9 100.8210 | 0{2|1[4]0|H L 2Sda
S R (5@ 1O 8 KX & L [£]100 2548 [4[@]| & BH # t %(Q| #5 K E 2 78 0 =25 RRE A N - 96. 68 FL)I i 4 7 1
10 z(f?m%ﬁz 0.8 2 @ E“% = EKEB * %ﬁ Bl 5 @ f} 7JI(I ﬁ“ ?:l; T gg; s 708 %%211 46 6*% 21? ﬂq —=—§E~33*EE %100 3.92 9279 2 3 1 0 4 9 F1% @ 5 2 7
m = T & & , . SRR - =
- e slo|# W R A tH 8@ iR 2EE 3,607, 600 -i FE:507 9% 5 iF ;'gg {RIM[F E| 953.92 105,210j0]3] 210|535 5597
i . 384 3. 476, 900
R|2##E 125 400 258 1~5 500 3@ 38, 392, 200 e 99, 90 F1 ER 4 6 2
% 3@l 12225 1,740 3BE 1~5~2 2,920 o4 F 537,100 L %||1®E‘ MK B fE =E & 8739 “31g [0 4[2[ 1| 1[O|FiE 5 54 % :ggg
B 74 F 125 200 122 440 =5 700 aF 46,912, 500 S [22_3%F = 101. 02 F1)Il 15 4 6 4 :
1 SEED 101% FECEE R 4%?,%{;5{ SR CIEEE i 0 cJ: g’g S % 2®%§ﬂ:w§§ i 2|3 8| 94[3.92 10_52321 1 fsoosg?,igizé27 ® 1280
ERE | |2 2 4 5 E 1 i = s = . R
205 miE| m |3|@| 58 B ® + e 6|® N #H é *x g;ﬁ 3%(5)288 d =1 _=m 3 [®|F é{;ﬁ'}]*tj‘ i ﬁmﬁ m| 92(3.92 97 77 11015(13]13(2 Ef’_ i??? A EMH
2 s 3143 500 7 @EGF B e 5mE ) 68)3.92 '411]0/0]0|3|3|0|wik w7602
R|288 527 1,060 258 7~5 2,240 S 37 083 400 4 i a 2
g 3381 4527 2,240 3EHE 7~5~4 15, 890 o1 F 466,100 jo 5 Gl# Sl &k e gl w7 ‘0_"232 1{1]2]|o]|2[8|lE E329,
B [7AF 527 300 427 650 =5 320 &% 45,099, 000 EEE ST TR TE S
12 SRED 4[]0 £ & 7 &[] o7 TR B[O & E & 7o B B = 2PE 0 (5'5»@@5@@2% B 2 =@ w8230 Saglolol2|2|2|0|FiZ & &5 4
#5 i = 15 1 5 & 5595 1997 E 5
2,015 mEg| m g% WoE k| | s elo| n m @ a 25 1,066, 100 | 20 [PlolelS[FE I {E36) E| 9913.92 1028417132 0f0]19)E3 5 mS ey
i T 3 586,200 T2 (glwl S A A1l E| 89(3.92 97.5910(03|2|0]0|0 % E S &%
R |[288 24 1,030 258 4~2 1,160 441 65 439, o0 . 6 2 b ) SN : ) Gl Rk
& | 388 22427 1,730 3EH 4~2~7 5, 390 94 K 719, 700 FHE12:15 i 4 N 3 125/ 1E[115(3.92 . 113l11ol111 g ¥ H
[0/ F 2224 330 2=7 160 =7 _1.180 aF 76,629, 400 O[5 B i 3 312 NEH207




) o Al

p—

H =

) o Al

ot

>

L2 BEEE B F OB Tewe e | ane (mREm] 0] semre HEEH
BE 0= B o e s 103,191218 (20|30 E 2222 g 166.0
s @ 2®i§i: :i F EPIE 9100385 ®.43]0]0]3]1|3]2 ??%Eﬁéég ® 1280
_zm 3@5%?&%?; B|33F K| 96]3.92 105, 1410|0|5|0|5|0|& % ;‘%éég A

4@%5?5”: B OEEMOF E| 93[3.92 800313 (1|0]|2|8|FHE E292
GEIN sElTfE B 75(3.92 1048 0l0|7(2]|0f0|FE 2152
(RHER) 5 (O] Sie’ B EE #h1F [1053.92 B34l 2]00f1|2]Bn B oSS
PO Tole e R B osEleF x upe Ol004]2|2|0|FE F5 4
w2l Tolulss " g wom | ww Sgalolololo[o[o[E 2541
RE12:40 ol SN km me 24 s 11s[s 02 102,001312|3|0|5[10|FHE 2195
B o5 "s = =lsF gfinbe 9881613 0[1]3[12|15TE 222 o
S 1 2®5§:|:E% & K36/ M| 92)3.92 100,38]0l03]4]6[0|Fi & %213 ® 1280
Ceg 3@5513@“5%; =[39[x BR| 92|3.93 013122/ 0f0|1|4|0% £592 A2
4@%%’ °1?3; SRR E 101 3.93 Bioli]2/al1[3[5|HE EL2e
GlE[ S " g —|o #0130 105,881 11313]2|4|3|HE &1
CEEE) | olal3l] Vs e sl esfs 02 B.210[o1]of2f0|HEE 77
202m 5@?@?"1”“ "X = EE @ 030 100,9510 0| 4|6|4|1|F1EF322
w1s0ol Tolul S G gale = ww %[0 o[2[1[+[o[BE 2232
1310 " \olse| 3R "I mckcEp |4 ez 88(3.92 wEl13]0f2|2|HEE29S
7 CEHE A =R U0l 1 roslofRETEITE S |D 1
S #& 22| gf:,tE B f5i32F #&| 98[3.92 100,53 1|0l 1]ofo|a|E5 ES 53 ® 1280
Ceg 3B|# 38 T Bg EPE E[03)392 A R AE IR R RN S PES
JORES s maeE woe 7. 9%0[1]3]2[s[1[HEESLS
Gl&S[L & g meF =] 820 1|4|1]|ojo|Fid @es]
FHEE) | olals " z=28= E[117[3.92 9%.41210/0lofo|6|HE Ee32
voom %l S i b g gl pe ol 1ol [o[s[nE 2,22
ﬁmm:%ﬁ,wt S kg ‘j” 5k (RO E| 95[3.92 %6.500lo|31[1]|o|HR &5
w2140 olu s s g s 8w walo[o[ol2[2 o5 5223
BRI o "s  xlss g 0bw 1062810 10/6[1[3[o[F1Z E®D] o
s @ |22 ?;’j:j@% SEpR4E (113392 102.8000]2|1(0|3|3|nEmeos ® 1280
_eg [SOFGER WE B zlum K 819 900 0l0]3|2|2|0|824E & 5 2 A4
4@%§%°ft"§ £ a2 |107(3.93 B9 1020 1]|1]|HEEESS
Gl B 1 mmeE s BB "2%0]0 0| 1]ofof0]fik Bdes
(SESREE) 5@.{@3% B g —[e7msi] 09[3.03 20 olojof1|1]|4|FEES2
200m Tl 1F shoAcap|2oEy| 1053 92 1051013 2| t{o|1|1|F & & ~&s
w ool Iolul3L g g o m oo 8 [o[o[0[0[0[0[ 15 £ a‘mm
2E1410 "olw S, Tl o o 8| wpo W.2lolol4|1|3|0|HBE Esas
- BISE Y RS FRITEE30S ~ - E—ZUJRBE BAMRFZI RIS~ nEREBRE5HS
EHECHASNOBRICE. T h— FOL—2BES - RAECHR LSV, & 3
- BEEMNIRE. FHY - BERELTHHEL LI, 19 &
FrUDFISYTE, BREROLBRBOESE CHATEET, & i
CAREHD 1 Ry TETHANADE LA, 2 9
KEHFDBAR0RICGE>THL, BMWMITEEICELAFEL &5 %wes:rmsusa

A of A

]

&
X
ER

A of A

d

L A i

A of A

]

&
X
ER

_ 2 |&|=|elsn - = T SEEME  |® m|_RYF |s|s SEET "
LR Zlaln & F B (S8R0 ¥V s e |ensmmEol1lc]  sicnms A& (FH)
B X E &1 e @)k 8|2 o[ 1]e[RR Bass® [0 o
N5y ] FIlX 774 ’
S 4 20|25 |= B FoE =] 86/3.92 100380 1]2(3]|3]0fri 5o ® 1280
1 ; =
L Bl T e e = ope w0 [ols[1[2[0[0E 2255 | <em
4@%3%’% HE LE[BBlE & 98[3.93 .03 13l0|1]|0]|6|Hn =255,
S|t 101.96 32 #5285 1
Gl% it "m = ABE E| 090 Laslofo|s(3l4folin 2583
(CRSREE) 5@@2}”{( T @ A4z eaf3 02 B22lojo|1|1]ofo|B5 BT e
2,025m sz 97 47 FI5ER 2 © 1
D55k B JE PE[6pE E(117)3.92 Hilol2|1|2|3]|5|mHaE %
*W141386m§}” T 14|28} F[115(3.92 685711 1]ofe]0|HETESZ DS
: S 7w 10337 5200
S [W4, v = - 103. 36 F1=ER 3 ® 4
10 AN R o[ [e[o[o[maE 285 [0 o
TE) /bW . — .
< g [EPIL 5 gy = wee sglo[ol2]¢[s[o[ME Eas:  |a o
! S [ w4 — x 101. 31 FIX 335
_xg [SOPFE R B ZE E 739 1172|0[0[2|3[0[0fFizmm 3 2 6 A i
BRP ARE . T
NI DT Tal[o[0[1]2[3|o[nE 5.2
o & & g, 23[F N|1173.92 063 2|7 10| 1|9|G R & X o
(CRSREE) 5@1@2”’“ T se (o0 m@|111]3.93 “B@l | 11|3|7|EE E337
2.02m "ol 48 "k ({15392 901213111 1]0|4[n|HZE 198
: TEBRER] =
**@]‘5-‘461;52”” Il % ERlehE K| 920302 ®.8lojoj2|2|6|0|HH Es5 3
RETS8 "ol Kt oz —|6fE m| 81302 106.940o[8(1]|1]|o|HZ 519©
S [E wF x 109. 68 Filll 516 2
1®E| 5 H & 5251 F[13]3.92 “640] 96| 1]0[9]18]Fi mzxm 1 2 © g :gzg
S [PeEt F1 98. 05 F13& 3 5 It :
S %& 2@% ZLLI K E *ﬁ‘ 32* Bﬁ100 3.92 . 250 0 0 4 1 0 F1 WEETZ@G: @ 128.0
! S [hr Bt — 101, 45 FIRIM 2 ® 6
ETEEESLD) — =
JOEER I g gpeE {00 F0350]0[20]2[0|FF @875
Sirs ke B AP Ansse 1015010 ]0]0]2folofHE 2285
(5E3EEE) Sy vz, = 1= ) FlE 717
5@.@2,_ E o OE|5® B[193.9 “elli|3lolof1|6|Ha £ 42a
2,025m o] S [PL - 107.57 Flx 21602
- # * =
WENSS0 @f 3k "l 78 BReE mjisjp.e Boat[oo 11 fr|o[HEEL S8
FE15:54) o)l S8 45 34wzl | 973,92 rlolof1|4|2|o|HEZ S S
12 I g o[o[s[s[fo[EROZT [0 mo
' - 238.0
S 1 200|283 e is JZPIE E 01392 '05:33]0]2 /4| 1]ofo|BR EEET . ®  198.0
! S 733 _eny . x 107.17 FlZE Q00
g 3B 3 AR 330 E| 97/3.93 "4341013(5(2(2|0|Fi3 Ho® 4 A
4@3.5?%-* O g —pp X o130 16,880 1| 7(1]3]2|FE £88%
Gl&SFy Tg s lafmson sofs 02 18,7000 4/2(af2]|1|lZ 2092
CRmREE) 5@?@?”7 " i milelE mloofs e 1065210106 /0|2[0[F} & &G40
2,025 | S[BT 112,50 2% %5209
™| o5 15 2=|33[%)119(3.92 “536 (14[310 (0] 2(0|es % i 7 2 Ded x
#EtN16:26 S |H_ vt = 106. 64 Flsh EOQ 2
ff% Gﬁt 1 E % ,%fxt ﬁs]lﬁl {1111(3.92 320 0/2(5(/118]0 FI AEET @ @ ©
: S| vk 111.07 FlEHEDO
FE16:30 7 9|/ J Sy3apE K| 96(3.92 Ysl3(2|7(0]|3[3|HzE nenea

BEGRERE4 ¥ ADFHR/RTY,

STR&E47ADRAE— MREPNHIREL., EEADRAICHITERKTY,
BKIZRIE4 ¥ BORENY IR MLy FE by TTEBLEZEIHRTY,

O X BEHE. 2R EEE. BR. RBOBIRE. OXHFERY. Eik (b5 LAY DEFIEZRLET .

,I OXFEZDMDEHATHRERLNBNDICLELHYET Tz, LELRL—RAOEBHIREGLEEL, PLLTHIELHYET,
- OWELRBEHRN TELVERICTRIILRETEEFA, ORSERLETHBEFOEEFTETIENAHYET,
B | OBBURDICH-HEEONEIR. BEROCIRIEBULET,




